Best model for HELP J142818.824+323619.123 at z = 0.347 x2=1.79
OPTx2=1.79 IRx?=2.7 threshold (OPT IR)=10.77 [um]

1

Flux [m])y]

1

=

Relative residual flux

2
10 Stellar attenuated
----- Stellar unattenuated
—— Dust emission
101 m m —— AGN emission
= Model spectrum
® Model fluxes
0 \ M oObserved fluxes
10
0—1
g .
-2 Ty :
0 'fg‘fq‘f'-,."‘-'r';,.,, - ,."{ .
0-3 :
1
1 mfe= (Obs-Mod)/Obs
0 +--+-#F - -r——r-----4F--------————————
-1 T T UL R | UL R | UL LR |
10° 10! 102 103 104

Observed wavelength [um]

CiGAL



